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Instructions : (1) All questions are compulsory.

(2) Figures to the right indicate marks allotted to each question.

1.  (A) What is Financial System ? Explain the role of Financial System. 7
OR

What is market-based financial system ? State the advantages of market-based
financial system.

(B) Distinguish between : (Any two) 4
(i) Bank-based and Market-based Financial Systems
(i) Money Market and Capital Market
(iii) Formal Financial Sector and Informal Financial Sector

(C) Answer in one-two lines only : 3
(i)  What is Primary Market ?
(i) What is Secondary Market ?

(i)  State the two components of Capital Market.

2. (A) Explain the role of the Reserve Bank of India in Money Market. 7
OR
Explain the procedure for issuing Commercial paper.
(B). Distinguish between : (Any two) 4

(i) Call Money Market and Collateralised Borrowing and Lending Obligation
(CBLO).

(il)) Commercial Paper and Certificate of Deposit.

(iii) Inland Commercial Bill and Foreign Commercial Bill.
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Answer in one-two lines :
(i)  Who issues Treasury Bills ?
(i)  State the types of Treasury Bills.

(i) State the characteristics of Money Market.

Explain the role of Securities and Exchange Board of India in the Capital Market.
OR

Explain the functions of Capital Market.

Distinguish between : (Any two)

(i)  Initial Public Offer (IPO) and Follow-on Public Offer (FPO)

(ii)  Public Issue and Rights Issue

(iii) Public Issue and Private Placement

Answer in brief :

(i) Name the intermediaries of the Capital Market.

(i1)  Give the full form of ECB.

(iii)  Give the full form of FCCB:

Explain the functions of Secondary Market.
OR
Explain the importance of Stock Market Index.
Answer briefly.: (Any two)
(i)  What is Rolling Settlement ?
(i)  What is Circuit Breaker ?
(iii) < What is dematerialization of securities ?
Answer in one-two lines :
(i)  Which is the oldest stock exchange of India ?
(i)  Give the full form of OTCEIL.
(iii) How many scrips are included in S&P CNX Nifty ?
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5. Select the correct answer : 14
(1) From the options below, which one is not a money market instrument ?
(a) Certificate of Deposit (b) Treasury Bill
(c) Preference Share (d) Commercial Paper
2) are also known as creators of credit.
(a) Banking Institutions (b) Development Financial Institutions
(c) Housing Finance Companies (d) None of the above
(3) Which is the most fundamental element of a strong financial system ?
(a)  Stock Exchanges (b) Money Market
(c)  Public Finance Policy (d) Sound Legal System
(4) In which of the below instruments, there is no defaultrisk ?
(a) Treasury Bills (b) Commercial Paper
(c) Certificate of Deposit (d) Commercial Bills
(5) The minimum maturity period in case of Certificate of deposit is less than _____
days.
(@ 91 (b) . 60
(c) 15 (d 7
(6) The minimum maturity period in the Term Money Market is
(a) 15 days (b) 30 days
(c) 1year (d) 3 months
(7) SEBI was given statutory powers in
(a) ~ August 1992 (b) December 1992
(c) January 1992 (d) March 1992
(8) ' A Red Herring Prospectus does not have details about
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(a) price of the shares (b) total issue size

(c) name of merchant banker  (d) date of opening of the issue
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(9) In order to use green shoe option, a company has to appoint
(a) underwriter (b) issuing and paying agent
(c) stock broker (d) stabilizing agent

(10) In order to make an issue successful, the company needs to have atleast
prospective allottees in its issue.

(@ 500 (b) 600
() 1000 (d) 100
(11) ____ orders are executed at a price specified by the investor.
(a) Limit (b) Standing
(c) Market (d) None of the above

(12) Which market was set to provide small and medium companies to access the
capital market for raising finance ?

(a) BSE (b) NSE
(c) OTCEI (d) ASE
(13) The interest rate paid on call money borrowings is known as
(a) call interest (b) _call rate
(c) call surplus (d) None of the:above
(14) If the issue is 100%, book-built, then not less than __ shall be made available
for allocation to retail individual investors.
(a) 25% (b)) 45%
() 35% (d) 55%
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